Confronting scarcity


People, raw material, and machines are the factors of production that provide the goods and services on an economy. The challenge of choosing what to produce and how to produce it to create the biggest affect is on the mind of every world leader. 

For example, capturing and penalizing criminals is extremely expensive, which creates the debate over if there is a better way to penalize criminals. If a state chooses to send people to jail longer, more prisons will need to be made, and more money will be needed to provide their shelter over their sentence. On the other hand, if a state decides to not imprison as many people and use their concrete to make highways instead of prisons, there will directly be more crime and more criminals in the open world than locked away in prison.

Also, the concrete that is needed to make those prisons, that would other wise be made to make highways, would create a problem. If the concrete is used to make the prisons, the state will then have less high ways and would produce transportation option problems. If another state chose to use that concrete the make highways, transportation options will be in excess and the prisons will be over flowing.    


The tropical rainforests that exist along the equator are known as “The Lungs of the Planet.” The indigenous people lived there for several hundred years with out disturbing it or its natural resources. However, in the second half of the 20th century the industrial world went in to suck it of its resources. Over those 50 years to obtain wood and open land, it depleted over half of the world’s rainforests. By 1999, 200 acres per day were being destroyed. At this rate, 80 to 90 percent of the rainforest will be gone by 2020 which would create an environmental disaster. If you get in and cut it down and put a farm, for example, in its place, that’s acceptable because you’re using it for production which will benefit the countries economy. 

As far as clearing the rainforests for farms, there are three reasons they burn them down to level the land for production. The smoke is so great that the shuttles in space can see the smoke. First is that they burn them because the trees in the rainforest don’t really make good timber so therefore its not worth it to save them and put them on the market since it doesn’t have a good production value. The second reason is because the trees provide most of the nutrients in the rainforest, and when they are burned down, those nutrients are transferred to the soil, and therefore the farmers benefit from this mineral and nutrient rich soil for their crops, at least for the first couple years of production.

In the rainforest, people were “poaching” trees, which meant they were illegally cutting down valuable wood to sell at a really high price. Since poaching elephants is illegal for the use of their ivory, the same is so for special trees in the rainforest.  

One of the main questions that is extremely debatable is: are we using the rainforest effectively by making it into farms and grazing land? It’s all about what the countries skills for producing goods and services are. In Brazil, for example, farms make sense since they are a huge farming community, and are one of the largest producers of coffee in the world.  

In1999, 1 hectare (2.5 acres) of land was said to be worth $1,000 in timber. As a cattle pasture it would be worth $148, and the profit from farming, was insignificant. A study showed that if you used every hectare to its full potential, the profit would be $6,800. That means using the trees, the animals, the plants, etc for any use possible.   


Germany produces high precision cameras, and they are one of the leaders in the production of them. On the other hand, America is the leader of the personal computer industry, and provides merchandise like scanners and digital cameras to make it possible to send pictures over the Internet. This benefits both countries, and this is called comparative advantage. Ever person that produces a good or a service will benefit from comparative advantage. 

When one country is relatively better at producing one good than another country, it means it can do so at a lower opportunity cost. Lower opportunity cost means that the amount that the country has to sacrifice from some other good is less for that country than another country that does not posses the skill to make that particular good well. For example, if a country that makes bikes well was to produce one more bike, the question that we would ask in trying to figure out whether or not it has a comparative advantage is how much of other goods does it have to give up to make it. How many bags of beans does it have to give up making that extra bike? For the country that makes the bikes really well, it could only be two, where as with another country it could be 4 or 5. 

With out international trade, a country is limited in its ability to produce goods and services, based on its level of technology and resources. When a country has greater resources to produce a good, the opportunity cost is lower. Comparative advantage leads to international trade. 

By producing goods with a comparative advantage instead of trying to achieve economic independence, trade allows countries to enjoy greater wealth. For example, the United States could choose to produce all of its coffee, but then it would be using more resources to produce that coffee than to produce the goods it has a comparative advantage over to trade with other countries and essentially, make more money and strengthen the economy. 
